Unit 8 Test Review — Vectors and Polar Name: ‘L'?J/\
Pre-Calculus Honors (@)

.. Plot the following points on the graph below. Then convert each point to a rectangular coordinate.
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2. Classify each polar curve and state its domain.

Yoi—%

2(!‘-.-%—:11\ =% PYt=7
BA-=%

4. Convert 2xy = 1 from recta.ngu]ar form to a'polar equation, and solve forr.
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. Convert rsinf = 2 and | cos 8 =-3 to rectangular equations.
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6. State the bearing AND the direction angle for the vectors shown below. - Z’\0° x \gb
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7. Write each of the following vectors in component form. olgé .‘_-1Q_‘°
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8. Consider the vector v = 5i - 2j. @OJ i j < \5’ - IS'(—> <20COS'§'§Q ?OSlv-Kﬂ
A) Find [v]. (BF+(~Y = ﬂ

B) Find the unit vec:c:rln the same difection as v. <\Sr - \bﬂ
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9. Given that P(3, -4) and Q(2, -1), find: r_

A) The position vector PQ. <’L—-'§.——l~*%\[ - <"'| '37 e@,ﬂ-—

B) The direction angle of the vector PQ. A
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10. Givenv =(3,—2)and w = (0, 5), find: —\%0

l ] ! 0] & QI
A) V'W = (o) -2(3) = |—1O I0F. Y43° ) & >

. s —\0 o
" s cos (5 ) Sl s o]

11. An airplane travels 250 mph due south. There is a steady 35 mph wind with a bearing of 90°.

A) Write the component form of the velocity vector of the airplane (without wind).
= L2500 !‘?o“\ ZGD SiA(1TYY = @, —2@7]

B) Write the component form of the ector o* the alrplane

W= <26 c0f0?, 350" ) ( {35, O WW
C) Write the component form of the actual velocity vector of the airplane.
VvER = @%g,"'?—@ﬁ] i _
D) What is the actual ground speed of the airplane? .
\U FrR\= [’LSZ Uy MP\'\ )

E) What is the actual compass bearing of the airplane?
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